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Solution to HW 6

The bispinor for an electron moving in Y direction with rest-frame spin in X direction can be obtained from Eq.
(8.53):
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so the wavefunction is
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The bispinor for a positron moving in X direction with rest-frame spin in Y direction can be obtained from Eqs.
(8.56) and (8.58):

v̄(p, s) =
1√

2(p0 +m)
[κ†(mσ0 + pµσ̄

µ), κ†(−m− σ̄0pµσµ) =

1√
2(p0 +m)

[(
− eiφ sin

θ

2
, cos

θ

2

)
(m+ p0 + ~p · ~σ);

(
− eiφ sin

θ

2
, cos

θ

2

)
(−m− p0 + ~p · ~σ)

]
(4)

where now θ = π
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so the positron wavefuction takes the form:
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